HUL242:: Tutorial-9

11/4

Q.1 Draw the dependency tree for the following sentence.

vaha ladkaa aaj seb khaa rahaa thaa
Will the structure look different from aaj vaha ladkaa seb khaa rahaa tha ?

Q.2 What will be the elementary trees for the following sentences? Indicate
which of these will be initial trees or auxiliary trees. Also show the derivation
trees, indicating the substitution and adjunction operations.

a. John can swim
b. Mary often returns to the office
¢. Who did John meet ?





